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ANSWER KEY

I/ READING COMPREHENSION: 08 marks

A- Matching Paragraphs with Ideas: (0.5 x 4 = 02 marks)

1. Parag. 3 2. Parag. 7 3. Parag. 6 {. Parag. 1
B- Interpreting Text Quotations: (0.5 x 4 = 02 marks)

5.e) 8. c) 7. ) 8. b)
C- WHO says WHAT?: (0.5 x 4 = 02 marks)

0. Leading economist 10. Finding new things to need instead of quitting early.

11. Tim. 12. Declare some downtime and drop lower priority things

D- French-English equivalents: (0.5 x 4 = 02 marks)

13. The busier you are, the more important you seem. (Line 21-22)
14. But so is balance. (Line 23)

11 / LINGUISTIC and COMMUNICATIVE COMPETENCE: 06 marks

E- Error Detection: (0.5 x 5 = 02.5 marks)

16. such 16. of I7. am 18. hadn’t had (or be)
F- Conversation Completion: (0.5 x 3 = 01.5 marks)

18. since

19. | am rich enough/l can/The situation allows (or any other meaningful and correct answer)

20. working 21. will you?/Okay? 22. Than

G- Reported Speech: (0.5 x 4 = 02 marks)

23. had been/have been away 24. not to 25. couldn’t/can’t be more

111 / WRITING: 06 marks

Content and organization: 2 marks
Coherence and cohesion: 1 marks
Grammar accuracy: 2 marks

Originality: 1 mark



